112 £ F > A EREHL 2RR2 =

=> Rl

#1: 3 F&(125.23) #2: 6 B78(124.75) #3 5 BkinpElRE(117.24)

5 NS: BRZEER) BRREEGHO) -1 6 NS: &5 FF=1E(BAC) 0 9.56 10.44| Total VP: 117.24 Rank:
EW: SR #E&ZEEAC) 0 EW: Z=551F 2BiE8(BAO) 1 IMP:| 17 18 3
I e -
#1 aT72 4SN4 420 Mean: 4SS5 450 3.0 1 #2 » K82 4HWS5 -450 Mean: 4HE4 420 1.0 1
v Q842 4S5S4 420 350 4SN5 450 3.0 1 v 95 4HWS5 -450 -450  5HWS5 450 0.0 1
+ AKQ6 Dif: 0 NS:2 4ss4 420 20 5 ¢ QJ54 Dif: 0 NS:0 4HWS5 450 0.0 6
& 74 IMP: 0 EW:-2 4SN4 420 20 1 » J542 IMP: 0 EW:0 4SXS-2 500 2.0 2
s 854 » J9 2885 200 -40 1 ||a JT74 a6
v A63 v T97 3NN-2 -100 -10.0 1 v KJT873 I v AQ2
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
% ¢V OSN 4 AKQE3 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ & 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 4SW4 -620 Mean: 4HS4 420 120 1 ||#4 s AJ5 2HW-2 200 Mean: 2HW-3 300 4.0 1
v T85 5HXS-1-100 -290  5HS-1 50 6.0 1 v JT9 2HW-1100 160  2HW-2 200 1.0 4
¢ 32 Dif: -520 NS:-8 5HXS-1 100 50 2 o+ AJ96 Dif: 100 NS:1  2HW-1 100 2.0 4
& KT542 IMP: -11 EW:-5 3SwW4 470 3.0 1 & JT3 IMP: 3 EW:2 1NW-1 100 20 1
» KJ97543 & QT 5HXS-3 500 -50 1 » KQ4 » 863
v Q9 v 43 4SW4 620 -80 4 ||w K8 + v 75432
¢ 985 ¢ AKT764 + KQ852 ¢ 43
aJ » A86 K52 & A96
o 4¢VAN L,A a T972
N 4~2~~ 'AKJ762 v AQ6
S 4~2~~ +QJ ¢ T7
E ~4~4~ Q973 & Q874
W ~4~4-~
#5 4 QT3 4SN5 650 Mean: 3NN5 660 80 2 ||#6 s Q3 3NE3 -600 Mean: 3NE-1 100 120 1
v KT2 3NN-1-100 340 4SN5 650 7.0 1 v AJ3 3NW4 -630 -550 3NW4 630 20 2
¢ J3 Dif: 750 NS:7 4SN4 620 7.0 1 ¢ 9754 Dif: 30 NS:-2 3NE4 630 20 3
» KQ732 IMP: 13 EW:10 3NN4 630 7.0 2 & Q432 IMP: 1 EW:2 3NE3 600 -20 3
# 9542 s A8 6CN-1 <100 -10.0 1 | |& K987 & Ad42 3NW6 690 40 1
v Q9643 v AJ87 3NN-1 -100 -10.0 3 ||v KQ6 — v 952
¢ Q8 ¢ T9754 ¢ KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 ¢5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ * AJ64 E 4~~44 T8
W ~~~~~ W 4~~44
#7 » Q9865 3SN-1-100 Mean: 3SS3 140 7.0 1 |[|#8 aT9 3HN3 140 Mean: 4HN5 450 6.0 1
v AT3 3SN-1-100 -130  3SN-1 4100 10 7 v AKJT97 3NS4430 210 3NS4 430 6.0 1
+ AQ6 Dif: 0 NS:1 4SN-2 200 -20 1 + AQ Dif: -290 NS:-2 4HN4 420 50 1
& 92 IMP: 0 EW:-1 4HW4 620 -10.0 1 & T73 IMP: -7 EW:-6 3HN3 140 20 1
& A3 a 42 » A853 » K764 2HN3 140 20 3
v QJ852 + v K97 v Q62 v 83 2HN2 110 30 2
¢ 742 ¢ KJ985 ¢ T5 ¢ J832 2SW-1 50 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢VABN o QJ2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 £ F > A EREHL 2RR2 =

R2

#1: 3 FE(133.96) #2: 6 BE1E(133.48) #3 5 ﬁlﬁTﬂnyﬁ(l% 66)

5 NS: BE&5E 2 ZE0) 9 2 NS: EEH 2ImZEBIo) 5 1242 : 7.58 Total VP: 129.66 Rank:
EW: BEEEE) BiFEEI0) -5 EW: 8lf5& 5Ei5(BAC) -9 IMP:| 13 7 3
I o I
#9 # 983 3CS-150 Mean: 4HE-2 200 80 1 # 10 » QT65 4HE7 710 Mean: 5HE6 680 7.0 1
v 72 4CS-2100 -130 3CN3 110 6.0 1 v K8 4HW6 680 -980  4HW7 710 7.0 1
* QJ72 Dif: -50 NS:1  3CS-1 -50 20 2 + 653 Dif: 30 NS:7 4HW6 680 7.0 2
& A763 IMP: -2 EW:-2 4CS-2 4100 1.0 1 » K984 IMP: 1 EW:-7 4HE7 710 7.0 1
» KQJ #» 7654 3HE3 140 00 2 ||s A8 » KJ94 4HE6 680 7.0 1
v QT9 v AKJ85 2HE3 140 0.0 1 v QJ9643 _I_ v A72 6HW7 -1460 -10.0 1
¢ AT543 — + 986 5CXS-3 500 -9.0 2 ||e A974 * KJ 6HW6 1430 100 3
& J9 &T A & JT73
oo VBN 4AT2 oo VABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 3NW4 430 Mean: 3NE3 400 1.0 1 ||#12 o AT972 3NE-2 -100 Mean: 3NE-3 150 50 1
v T86 4SW4 420 -420  4SW4 420 00 7 v T984 4HW-2 -100 -60  4HW-2 100 40 1
« J9632 Dif: 10 NS:0 3NW4 430 00 1 ¢ T54 Dif: 0 NS:4 3NE-2 100 40 2
& QJ98 IMP: 0 EW:0 3NE4 430 00 1 & J IMP: 0 EW:-4 4HW-1 50 30 1
& AJ8432 a 97 ~ J65 » KQ 3NE-1 50 30 1
v A54 v J93 v AQJ752 I v6 2HE2 110 20 1
¢ AK87 ¢ Q93 + KJ86 3SN-2 -200 -40 1
a AT76 7 » KQ9643 3NE4 430 9.0 2
oo VAN 4843
N ~~~~~ v K3
S ~~~~~ * AT2
E 232~2 aAT852
W 232~2
# 13 & K54 4HN-2 200 Mean: 2HS3 140 60 2 |(|#14 4 J63 1NS3 -150 Mean: 2SS4 170 20 1
v AT42 2DXW3 380 -100 2HS2 110 50 1 v A963 2SS4 -170 100  1NS3 150 2.0 1
+ A62 Dif: -180 NS:-7 3HS-1 4100 00 1 ¢ 9652 Dif: 20 NS:2 1SS3 140 10 1
» K32 IMP: -5 EW:3 3HN-1 100 00 1 » Q8 IMP: 1 EW:-2 1NN2 120 1.0 1
& AT82 N » Q63 2HS-1 100 00 1 ||a 754 4 Q92 2HN2 110 00 2
v K8753 4HN-2 200 -3.0 1 ||v KQ52 v J8 1SS2 110 00 1
» KT8743 + + Q5 aHs3 300 50 1 ||e A873 * KJ INS1 9 00 1
% Q98 » T54 3NS-3 300 -50 1 ||a 54 » KT9763 2CE-1 50 20 1
o ¢ VAN 4J97 2DXW3 380 7.0 1 % ¢ VAN 4 AKTS 2HN-1 50 4.0 1
N 2~2~~ v QJ9% N ~2222 ¢T74
S 2~2~~ ¢J9 S ~2221 QT4
E ~3~1~ &AJ76 E 1~~~~ &AJ2
W~3~1-~ W 1~~~~
# 15 »93 4SW-1-50 Mean: 4SW-1 50 40 4 ||# 16 s QJT7 4HW4 620 Mean: 3DXS3 470 110 1
v 842 4SW-1-50 -110  4HE-1 50 40 2 v A932 5DXS-1100 -40  4HW-2 200 6.0 2
¢ 873 Dif: 0 NS:4 3sw4 470 20 1 + J876 Dif: 520 NS:-2 2CE-1 100 40 1
& AK753 IMP: 0 EW:-4 5DS-4 400 70 1 &6 IMP: 11 EW:11 5DXS-1 4100 20 1
& AKQ75 s JT84 4SW4 -420 7.0 2 | |s AK984 a 3DXS-1 100 -2.0 1
v AQ75 v KJT3 v J8764 v KT5 2HW2 410 20 1
* Q6 ¢ 54 . + K942 3HE4 170 40 1
& Q8 » J96 » Q92 » AJ8754 5DXS-2 -300 -6.0 1
* VAN 462 * ¢ VAN 4,653 4HW4 620 -11.0 1
N 22~~~ 996 N~2~~~w9Q
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53
E ~~33~ &T42 E 4~3~1 a&KT3
W ~~33~ W 4~3~~




112 £ F > A EREHL 2RR2 =

=> R3

#1: 3 F&(148.35) #2: 5 ﬁETﬁlﬁlﬁ(MS 44) #3: 6 F1E(141.81)

5 NS: B8 HtZ2.22(5H0) 20 9 NS: #ig{8 BRIZEF(FAC) 8 13.78 : 6.22 | Total VP: 143.44 Rank:
EW: 3R M2 E0) -8 EW: EI7R EBE(BAO) -2 IMP:| 28 18 2
- S
# 17 » K96 3HW-2 100 Mean: 3HW-2 100 3.0 1 # 18 s 186 3SS-1 -100 Mean: 3SS3 140 60 2
v A97 2HW-150 10  3HE-2 100 3.0 1 v 94 3583140 -90  3SS-1 400 0.0 3
+ AKJ75 Dif: 50 NS:3 3CS4 130 3.0 1 + Q7643 Dif: 240 NS:0 3CE4 430 1.0 1
» Q8 IMP: 2 EW:-1 2HE-2 100 3.0 1 * Q53 IMP: -6 EW:6 4SS-2 200 3.0 2
4 J3 s AT72 3HW-1 50 1.0 1 || A543 »2 3DN-2 200 3.0 1
v T543 v KQ86 2HW-1 50 1.0 1 ||v QT862 I v J5 2NN-2 200 3.0 1
+ Q6432 *8 3DN-1 50 20 1||e A9 ¢ KT85
& K3 & A764 2HW2 110 3.0 3 ||a 97 &» KJT842
VBN 4 Q854 %o VABN 4 KQJI7
N11~11 vJ2 N ~~~2~ v AK73
S 11~11 ¢T9 S ~~~2~ ¢J2
E ~~2~~ &JT952 E 3~1~~ &A6
W~~2~~ W 3~1~-~
#19 » AT54 3DN5 150 Mean: 5DXN5 550 11.0 1 ||# 20 a6 3SW4 -170 Mean: 3SW4 470 6.0 3
v K87 3NN-3-150 -20  3DN5 150 5.0 1 v AJ98 4SW4 620 -390 2SW4 470 6.0 2
+ KJ653 Dif: 300 NS:5 3DS3 110 40 1 « AKT76 Dif: 450 NS:6 4SW4 620 -60 5
a5 IMP: 7 EW:4 3NN-2 400 20 2 & QJ5 IMP: 10 EW:6
» K9876 a J2 3HE3 140 3.0 1 » AKS8432 & QT9
v JT953 v A42 3NN-3 450 -40 2 ||e K743 + v Q
* ¢ QT92 3NS-4 200 -50 2 ¢ Q3 ¢ J42
& KT7 & QJ92 a6 & A98732
F*e¢VAN Q3 ooV ABN o, J75
N ~4~~~vQ6 N ~11~~ ¢T652
S ~4 ~~~ ¢ A874 S ~11~~ ¢985
E ~~1~~ &A8643 E 1~~42 &KT4
W ~~2~~ W 1~~42
# 21 » AQ9 5CN5 600 Mean: 5CN5 600 10.0 1 # 22 4 K8532 4SS5 450 Mean: 3NS6 490 3.0 1
v 743 3HE-4200 170  3HE-4 200 10 2 v AT7 3NS6 490 390 4SS5 450 20 5
¢ 52 Dif: 400 NS:10 4CN4 130 1.0 3 . Dif: -40 NS:2 4SN5 450 20 1
» AQJ97 IMP: 9 EW:-1 3HE-3 150 1.0 1 » QT974 IMP: -1 EW:-3 4SS4 420 10 2
& K874 s J5 2sS3 140 1.0 1 ||a AQ7 # 96 4sS-1 50 -10.0 1
v T965 v AQJ82 2HE-3 150 1.0 1 v 96 — v QJ843
+ Q93 ¢ J64 5CN-1 100  -7.0 1 ||e J532 ¢ QT976
& K2 » T85 » J863 » K
o VBN 4, T632 PO VAN ,JT4
N 45~42 oK N 5~~55 vK52
S 45~42 ¢AKT87 S 5~~55 ¢ AK84
E ~~~~~ & 643 E ~~~~~ & A52
W~~~~~ W ~~~~~
# 23 QJ 4SE6 -680 Mean: 4SE4 620 1.0 3 ||# 24 » AKJ72 3NS3 400 Mean: 6CN6 920 80 4
v KJ652 4SE6 -680 -640  4SE5 650 0.0 5 v?2 6CN6 920 590 5CN6 420 50 4
+ Q9 Dif: 0 NS:-1 4SE6 680 1.0 2 .8 Dif: -520 NS:-5 3NS3 400 50 1
& AQJ9 IMP: 0 EWwW:1 & AKQT73 IMP: -11 EW:-8 1SN5 200 9.0 1
» 82 & AKT9754 » Q86 » 954
v QT983 + v A4 v KQ65 v AT43
¢ AK73 o T ¢ KQ974 ¢ T52
& K8 S & T65 a4 & 982
o ¢VABN 463 o OVABN 4T3
N11~~~ @7 N 6~~64 »J987
S 11~~~ ¢J86542 S 6~~64 ¢ AJ63
E ~~253 #7432 E ~1~~~ &J65
W ~~255 W ~1~~~
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#1: 3 FUE(164.58) #2: 5 ﬂETﬁlﬁlﬁ(l& 06) #3: 6 T=A@(151.37)

NS: HfRpE G IR (FC) 32 1 NS: 333 i (B10) -15 19.62 : 0.38 | Total VP: 163.06 Rank
EW: 1&ikEE BREBH(BFHO) 15 EW: $E{_# MEFR(BAC) -3 IMP:} 39 : O 2
I A o
a5 5DXS-2 300 Mean: 4SE-1 50 5.0 #2 aT7 3SE3 140 Mean: 1NE-3 150 40 2
v A9 4SE-1-50 -130  5DXS-2 -300 -5.0 v KJ873 3SW3140 10  1NE-2 100 3.0 1
» AK97 Dif: 350 NS:5 5DXS-3 -500 -9.0 + QT9 Dif: 0 NS:-4 3SwW-1 50 1.0 3
& A98643 IMP: 8 EW:5 & AT9 IMP: 0 EW:4 1NE-1 50 1.0 1
Y » KQJ82 # 9532 » KJ86 3SW3 140 40 1
v v K3 v AT I v 92 3SE3 140 40 2
3 ¢ JT53 J5 + AK862
& a»T7 » 87654 » KQ
V&N 4,763 ¢V AN 4 AQ4
N 1~ ~ ¢ T8642 N ~~1~1 v Q654
S 1~ ~ ¢ Q862 S ~~1~1 ¢743
E ~32 a5 E 12~3~ &J32
w ~32 W 12~3~
s KJ 6HS6 -980 Mean: 6HS6 980 8.0 # 4 » K54 4SE5 650 Mean: 4SE-1 100 120 1
v 8754 6HS6 -980 630  4HS6 480  -4.0 v A82 4SE5 650 -560 4SW4 620 20 1
¢ T62 Dif: 0 NsS:8 ¢ 765 Dif: 0 NS:-3 4SE4 620 20 1
& AJ65 IMP: 0 EW:-8 & JT53 IMP: 0 EW:3 4SW5 650 -3.0 1
& QT74 & AT98 & Q763 4SES5 650 -3.0 6
v J6 v KQT4 + v J6
¢ A985 ¢ A984 + QJ3
a T74 a K » AQ98
o OVAN 4,2
N ~~~~~ v 9753
S ~~~~~ ¢ KT2
E ~4~55 &7642
W ~4~514
s Q2 3NN-2200 Mean: 3NS3 600 120 1 ||#6 s J5 3SW3 140 Mean: 4SW-1 100 40 1
v 983 3NS3-600 -70  4CN4 130 50 1 v JT 1NN1-90 -40  3CS3 110 40 1
+ KJ3 Dif: 800 NS:12 2SW-2 100 50 1 + Q854 Dif: 230 NS:4 1NN1 90 40 1
& AJ963 IMP: 13 EW:4 3NN-2 200 -40 5 & KQJ97 IMP: 6 EW:3 4CN-1 50 00 1
& KJ976 3NN-3 300 -6.0 2 ||a Q9643 » AT82 3Cs-1 50 0.0 1
v T752 v K983 — v Ad 2HS-1 -50 00 1
¢ 75 ¢ A73 + J96 3sw3 140 -30 4
» Q2 a6 & 8542
SN ,T83 o ¢VABN 4 K7
~ 1 « AKQ6 N 311~~ » Q7652
~1 ¢ Q9% S 311 ~~ ¢KT2
2 ~ & K85 E ~~~3~ &AT3
2 ~ W ~~~3~
» 543 2NE2 120 Mean: 4HXE-2 500 10.0 1 [|# 8 » QJT965 4SN5 -450 Mean: 4SN5 450 0.0
v Q98 4HXE-2 -500 20  1NXS1 180 4.0 1 v AKT2 4SN5 -450 450 3NS5 460 0.0
¢ J93 Dif: 620 NS:10 3SE-1 100 20 1 . Dif: 0 NS:0 3NS4 430 1.0 1
& J962 IMP: 12 EW:4  3HW-1 100 20 1 & K54 IMP: 0 EW:0
» AQ62 3HE-1 100 20 1 ||s K87 a A43
+ v T752 2NE2 120 40 1 ||e 543 v J97
+ AQ8 2HW2 110  -40 1 ||e 8742 + AQT3
S s T5 2HE2 410 -40 1 ||a 972 » JT8
VAN ,T8 3CS-2 200 -6.0 1 *OIVAN o2
~ ~~ 9AK 1NS-2 200 -60 1||N 5~554 ¢ Q86
~ ~ ~ ¢ T7652 S 5~554 ¢ KJ65
2 22 &AK73 E ~~~~~ & AQ63
222 W ~ ~~~~




112 £ F > A EREHL 2RR2 =
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#1: 5 BkIIEI$(179.06) #2: 3 ﬁm%(lﬁ 02) #3: 6 F1E(168.68)

5 NS: BRER) BRRFERHO) -6 10 NS: 818318 S5 (BAC) -30 16.00 : 4.00 Total VP: 179.06 Rank:
EW: BE&5E HZ22EAC) 30 EW: £ 52 sRRH(BAO) 6 IMP:| 26 : 8 1
I . — —
#9 aT3 3CW-1100 Mean: 4CW-2 200 7.0 1|[[#10 s T6 3SE5 -200 Mean: 2HS2 110 80 2
v QT542 4CW-2 200 -110  3CW-1 100 50 3 v 983 4HXS-2 -500 -230  3HS-1 100 4.0 1
732 Dif: -100 NS:5 3SS-2 4100 00 1 o T8643 Dif: 300 NS:1 3SE4 470 20 2
» 632 IMP: -3 EW:-7 3CW3 110 00 2 » KQ5 IMP: 7 EW:7 2SE4 470 2.0 1
s 84 & K95 28S-2 100 00 1 ||a K72 » QJ854 3SE5 200 1.0 1
v J9 v K763 3NE3 600 -10.0 2 ||w A2 _I_ v 74 4HXS-2 500 -7.0 1
+ AK84 — * T96 * AQ72 *J9 4SE4 620 9.0 2
& AK954 » Q87 & 9763 & AJT2
% ¢ VAN 4 AQJ762 *oVAN 4 A3
N ~~~~~ v A8 N ~~2~~ y KQJT65
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
6NXN-2 -300 Mean: 5CXS5 550 8.0 1 ||# 12 o JT642 5CW5 -400 Mean: 6CE-1 50 100 1
5CS-2-100 200 3NN4 430 60 3 v 85 3NE4 -430 -440 5CW5 400 1.0 1
Dif: -200 NS:-11 5CS5 400 50 2 + QT8 Dif: 30 NS:1  3NW4 430 0.0 1
IMP: -5 EW:7 5CS-1 50 6.0 1 & A96 IMP: 1 EW:0 3NE4 430 0.0 1
~ 9742 5CS-2 100 -70 2 ||a 53 ~ AKQ97 3NW5 460 1.0 3
v 9543 6NXN-2 300 -11.0 1 ||e AJ7 | v Q9 3NW6 490 20 2
+ A96 ¢ A972 ¢ K4 6CW6 920 -10.0 1
a A3 a Q432 a KJT8
oo VAN 4,8
N ~~~~~ v KT6432
S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 3NE4 -630 Mean: 2HE3 140 9.0 1 ||# 14 s QT2 5HXE-2 300 Mean: 5HXW-2 300 30 3
v Q2 3NE5 -660 -530 2NE4 180 80 1 v?9 4HW-150 210  5HXE-2 300 3.0 4
¢ T987 Dif: 30 NS:-3 3NE3 600 -20 1 ¢ JT953 Dif: 250 NS:3  4HW-1 50 -40 2
» AJ6 IMP: 1 EW:4 3NW4 630 -3.0 1 » T632 IMP: 6 EW:4 5SS-1 50 6.0 1
& J962 \ & A87 3NE4 630 -3.0 4 ||s 654 s 97
v AJ963 v K4 3NES -660 -4.0 2 ||ev AK743 v QJT652
e5 + + AKQJ3 + Q2 .74
& 983 & K75 » AQJ » K87
FOIVAN ,T4 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
§ ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ %954
W ~~554 W ~~3~~
# 15 'y 5SXW6 -750 Mean: 6CS-2 200 7.0 1||#16 » KQJ93 4SN4 420 Mean: 4SN4 420 40 7
v KJT876 5SXW6 -750 -490  5HS-2 200 7.0 2 v 62 6CXN-1-100 270  5SN-1 50 8.0 1
¢ T32 Dif: 0 NS:-6 4SW5 450 1.0 2 *2 Dif: 520 NS:4 4SN-1 50 8.0 1
& 7654 IMP: 0 EW:6 5DN-5 500 0.0 1 & KT832 IMP: 11 EW:9 6CXN-1 4100 9.0 1
& JT76542 & AKQ3 4SXW5 690 -50 1 aT » 8654
v Q2 v 53 5SXW6 750 -6.0 3 ||e AT74 — v QJ853
¢ AKJ7 ¢+ 864 + KQJT4 ¢ 9753
& » JT93 » QJ4 »
oo VABN 9 * ¢ VAN 4 A2
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




112 £ F > A EREHL 2RR2 =

=> R6

#1: 5 BRIBEI5E(190.33) #2: 3 ﬁlﬂ%(l& 9) #3: 6 =1&E(181.8)

5 NS: B&3E 3t Z.22(E0) 9 8 NS: S EMAREAC) 2 | 11.27 : 8.73 | TotalVP:|  190.33 Rank:
EW: SR #E&EEAC) -2 EW: &igT RERI(BAO) -9) IMP:| 16 13 1
I
# 17 o A52 3NN3 400 Mean: 3NN5 460 7.0 1 |[# 18 9 6DS-2 -200 Mean: 5DS5 600 10.0 1
v K5 3NN3 400 160  3NN3 400 6.0 4 v AT853 4SXW-1100 140 5SXW-2 300 4.0 2
«» K872 Dif: 0 NS:6 3NN-1 50 50 2 ¢ 32 Dif: -300 NS:-8 5SXE-2 300 40 1
& AKQ6 IMP: 0 EW:-6 3NN-2 100 -6.0 2 & KQ432 IMP: -7 EW:1  4SXW-1 100 1.0 1
» J873 » Q964 3NN-3 150 7.0 1 || AKJT653 # 8742 4SW-1 50 3.0 3
v Q8 v T643 v 64 I v J92 5DS-1 100 -6.0 1
¢ QJT643 *A T + AQ6 6DS-2 200 -8.0 1
&4 » J873 & ATS & 986
® VBN KT *4VABN 4 Q
N 5~ 4~ 4 ¢ AJ972 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJO8754
E ~~~~~ & 1952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 4SN4 420 Mean: 4SN4 420 40 4 ||# 20 » A853 4HN4 620 Mean: 4HS4 620 0.0 1
v AJ 4SN4 420 260 3SN4 170 3.0 3 v 87542 4HN4 620 620  4HN4 620 0.0 9
¢ 543 Dif: 0 NS:4 2SN4 170 3.0 2 ¢ A Dif: 0 NS:0
& AQ IMP: 0 EW:-4 2CS2 90 5.0 1 & AT2 IMP: 0 EW:0
a9 a K2 aQ a JT72
v T532 v KQ64 v K93 _|_ v6
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 » 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 3NS5 660 Mean: 3NS5 660 100 2 ||# 22 » J83 2SW2 -110 Mean: 3HN3 140 50 1
v Q7 3NS-1-100 170  1NS5 210 1.0 2 v AJ7653 3HN3 140 -50  4SW-1 100 40 3
+ KT53 Dif: 760 NS:10 3CS4 130 1.0 1 *3 Dif: -250 NS:-2 3SW-1 100 40 2
» KT83 IMP: 13 EW:7 1NN2 120 20 1 » J85 IMP: -6 EW:-5 2SW2 110 20 2
a4 AT75 » KJ63 2HW-1 50 3.0 1 [|a AQ542 & KT6 5HXN-2  -300 -6.0 1
v J986 v A532 3NS-1 100 70 2 ||w K2 — v T4 4swa 620 -11.0 1
¢ 642 ¢ J98 3NN-1 4100 7.0 1 QT * KJ964
+ Q2 » 54 » Q632 » KT9
o ¢VABN 4,94 o ¢VABN 497
N 44~~2 vKT4 N ~~3~~ v Q98
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJ976 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4SS-1-100 Mean: 5HXE-2 500 11.0 1 ||# 24 » 86 4HS4 420 Mean: 4HS6 480 4.0 2
v QJ62 4S8S-1-100 0 SHE-2 200 50 1 v T95 4SXW-2 300 350 3NS5 460 3.0 1
*4 Dif: 0 NS:-3 4HE-1 100 3.0 1 + AKQJ65 Dif: 120 NS:2 4HS4 420 20 3
& 9862 IMP: 0 EW:3 4SS-1 4100 -30 6 & J4 IMP: 3 EW:2 4SXwW-2 300 -20 3
a4 » 98 4SXS-1 200 50 1 ||a QJ942 a AT75 5HS-1 50 9.0 1
v KT4 + v A9753 v A7 v 862
¢ QJ73 + K9852 o T ¢ 9743
& AKT74 S »Q & T7653 » Q2
B¢V ABN o QIT762 ¢VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~




112 £ F > A EHEHL 2RR2 =

=> RT

#1: 5 BkIEIE(194.58) #2: 6 %ﬁ‘m(l% 05) #3: 3 FIE(182.4)

5 NS: BREER) BRREEGHO) -26 7 NS: BREH BREI5(BAC) -11 4.25 15.75| Total VP: 194.58 Rank:
EW: MR #EEEIC) 11 EW: =255 BEE(BAO) 26 IMP:| 3 20 1
I I
#1 & AT62 5CXN-2 -300 Mean: 6CN7 940 120 1 |[# 2 » KQ932 4SXN-3 -800 Mean: 5HWS5 450 3.0 3
v 5CN-1-50 270  4SN5 450 50 1 v A84 5HW5 -450 -540  5HE5 450 3.0 1
+ KQ96 Dif: -250 NS:-11 5CN6 420 40 1 ¢ 8753 Dif: -350 NS:-6 4HW5 450 3.0 2
& AQ832 IMP: -6 EW:8 5CN5 400 40 2 &3 IMP: -8 EW:-3 4SXN-2 500 1.0 1
» K97 & J85 3NN4 430 40 1 ||a & AJ76 5HXW5 650 -3.0 1
v KQ72 v AJ964 4CN4 130 40 1 ||v J9632 I v KQ75 4SXN-3 800 -6.0 2
* 842 ¢ JT53 5CN-1 50 80 1||e AQ4 * J6
+ K65 &T 4SN-1 -50 8.0 1 & AT876 » Q94
® VAN ,Q43 5CXN-2 300 -11.0 1 *oVAN 4, T854
N 5~~32 ¢T853 N ~1~1~ 9T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W-~~1~~ W 4~5~3
#3 » 9854 3NW3 -600 Mean: 5CW-1 100 11.0 1 [|#4 » 853 4HS4 620 Mean: 4HS4 620 3.0 8
v 52 4HW4 -620 -420  2DN-1 50 9.0 1 v A864 4HS4 620 500 2HS4 170 8.0 1
+ KT9764 Dif: 20 NS:-5 3DN-3 4150 7.0 1 ¢ J97 Dif: 0 NS:3 5HS-1 100 120 1
IMP: 1 EW:5 3SXN-3 500 -20 1 & AQ6 IMP: 0 EW:-3
4HW4 620 -50 1 & AKJ4 » QT92
3NW3 600 -50 5 ||w 952 + v3
+ Q852 ¢ AT64
» 52 » 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 3NW4 -430 Mean: 1NW4 180 50 1 #6 s J 5DXN-1-100 Mean: 5DXN5 550 60 3
v 87642 3NW5 -460 -360 1NW5 210 40 2 v A754 2CS5150 290  5DN5 400 3.0 2
¢ T95 Dif: 30 NS:-2 3NW3 400 1.0 1 + KQ954 Dif: -250 NS:-9 4DN5 150 4.0 2
» Q97 IMP: 1 EW:3 3NW4 430 20 3 & A43 IMP: -6 EW:4 2CS5 150 4.0 1
& KT64 a 52 3NW5 460 -3.0 3 ||a AK76 » T984 2HW-1 100 5.0 1
v AQ v JT95 v T9832 — v KQJ6 5DXN-1 100 9.0 1
¢ AJ63 + Q872 ¢ T6 * A7
& T43 & AKJ a»T7 » Q92
d ¢ VAN 4 AQI73 B oVAN 4 Q532
N ~~~~~ v K3 N55~~~w
S ~~~~~ * K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 3SS4 170 Mean: 3HW-2 200 30 3||#8 » Q72 3DN3 110 Mean: 3DN3 10 20 1
v A985 2SN3 140 110  3SS4 170 2.0 1 v 9853 2SS2110 40  2SS2 110 20 1
¢ 874 Dif: 30 NsS:2 2SS3 140 1.0 1 + KQ62 Dif: 0 NS:2 2DS3 10 20 1
& AKT7 IMP: 1 EW:-1 2SN3 140 1.0 2 & K9 IMP: 0 EW:-2 2DN3 110 20 1
» J96 a 52 2NN2 120 00 1 ||a A8 a T954 18s2 110 20 1
v KJT7 + v Q64 4SS-1 100 50 1 ||e JT2 v KQ6 1NW-1 50 00 2
+ K96 * AQJ2 4SN-1 100 50 1 ||e AT7 ¢ 95 3NN-1 50 3.0 1
& 864 » QJ92 » Q7654 » T832 3NS-2 100 40 1
o O¢VAN o AKQT74 oo VAN 4, KIE3 1NW1 -90 4.0 1
N ~~~33 ¢32 N ~3222 v A74
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~




112# £ F > A EHEHL 2RR2 =

=> R8

R (187.04)

#1: 5 HKIGEIE(212.79) #2: 6 B3E(187.37) #3: 8 EHERES

5 NS: #BIXFE BREEEIEAC) 22 3 NS: #lEF 152/~ (F0) -14 VP:| 18.21 1.79 Total VP: 212.79 Rank
EW: E&RE HZZZEH0) 12 EW: &iil55 BRiEER(BAC) -2 IMP:| 42 13 1
.
#9 aJ 4HS-2100 Mean: 4HN5 450 100 1 [[# 10 s KJ5 2SW2 110 Mean: 2SW-1 100 20 2
v Q9642 3HS4-170 o0 3HS4 170 50 1 v QJ8 2SW-1-100 40  2CW-1 100 20 2
« 8642 Dif: 270 NS:5 4HN-1 50 20 2 * J92 Dif: 210 NS:2 1NN2 120 20 3
» J82 IMP: 7 EW:3 3HS-1 50 20 1 » 9654 IMP: 5 EW:4 2SW2 110 40 3
4 8753 » T642 4HS-2 100 -30 5 ||s AT973 s 42
v JT3 v 75 v 632 _I_ v K74
5 — ¢ AJ93 o7 ¢ AT865
+ KQT64 & A73 & AKQT & J32
o4 VABN 4 AKQ9 o ¢VABN 4, Q86
N ~32~1 vAK8 N ~1~~1 v AT9
S ~32~1 ¢+KQT?7 S ~1~~1 ¢ KQ43
E ~~n~~~ * 95 E1~~2~ 87
W ~~~~~ W 1~~2~
3NW5 460 Mean: 3NW4 430 1.0 2 ||#12 s K 3NN4 -630 Mean: 3NS5 660 1.0 1
3NW6 490 -460 3NE4 430 1.0 1 v AQT6 3NN5 -660 640  3NN5 660 1.0 5
Dif: -30 NS:-1  3NW5 460 0.0 2 ¢ KJT65 Dif: 30 NS:1  3NN4 630 0.0 4
IMP: -1 EW:0 3NE5 460 0.0 1 & Q82 IMP: 1 EW:0
~ AK85 3NW6 490 1.0 3 ~ Q852
w7 3NE6 490 1.0 1 I v 87
¢ QJT52 * AQ7
a AJ9 » 9763
& AJ974
v 93
¢ 92
& AKJ4
#13 & AJT97 4HW-1 -100 Mean: 4SN4 620 11.0 1 # 14 4 AKQ96 6DS6 -920 Mean: 6DS6 920 60 6
v 63 4HE-2 -200 100  4HW-2 200 30 1 vdJ 3SN5-200 690 5DS6 420 7.0 3
* AT Dif: 100 NS:3  4HE-2 200 30 1 ¢ JT86 Dif: -720 NS:-10 3SN5 200 -10.0 1
» Q864 IMP: 3 EW:0 3SN4 170 2.0 1 » A87 IMP: -12 EW:-6
s 85 N s Q3 3SN3 140 1.0 1 ||s T875 a J32
v AKQ42 v 9875 4HW-1 100 00 1 v AQ5 v T8763
* KJ92 + + 8543 4SN-1 100 50 3 ||e 74 *Q
& 52 & AJ7 3SN-1 100 -50 1 » Q932 & KJT6
o4V AN 4 K642 o OVABN 4
N 3~~3~ oJT N ~6~~4 v K942
S 3~~3~ +Q76 S ~6 ~~4 ¢ AK9532
E ~22~~ 4KT93 E ~~~~~ *» 54
W ~22~~ W ~~~~~
# 15 & 97532 4SN4 -620 Mean: 6DS7 1390 100 3 ||# 16 s A9 4SE4 620 Mean: 5CW-2 200 120 1
vA 6DS7 -1390 940  6CS7 1390 10.0 1 v AJ65 5CW-2 -200 -530 4SW4 620 -3.0 2
+ K5 Dif: 770 NS:10 3NS7 720 60 1 ¢ 964 Dif: 820 NS:12 4SE4 620 -3.0 7
& AT643 IMP: 13 EW:8 3NN7 720 60 2 & Q974 IMP: 13 EW:3
» QJ86 ~ K4 5DS7 640 -7.0 1 ||as K52 a QJT43
v KT64 v QJ9852 4SN4 620 -80 1 ||w 9873 —_— v K
¢ T42 ¢ 93 4HXE-3 500 -10.0 1 ¢ QT ¢ AK85
& J5 » 872 » AK63 » T85
VAN ,AT oo VAN 4876
N 77~57 73 N ~~n~~~ v QT42
S 77 ~57 ¢ AQJ876 S ~~1~~ ¢J732
E ~~~~~ » KQ9 E 2~~42 aJ2
W ~~~~~ W 3 ~~52




112# £ F > A EHEHL 2RR2 =

=> R9Y

#1: 5 BRIGEIR(223.23) #2: 6 HXEQ01.46) #3: 8 THER LS

R (197.04)

5 NS: BE45E 2 ZEAC) 9 4 NS: FRIERE FE1E3%(BAO) -14 VP:| 10.44 : 9.56 | Total VP: 223.23 Rank:
EW: MR #EZEEHO) 15 EW: iti#E# #ImsE(BAC) 9 IMP:| 19 18 1
# 17 # J6543 2SS2 -110 Mean: 3NS3 400 70 1 |[#18 » KQ862 2SN-1100 Mean: 3CW-3 150 2.0 1
74 3NS-2100 90  3CXE-2 300 50 1 v AJ97 2SN2 -110 100  2SN3 140 1.0 4
+ KQ854 Dif: -210 NS:-5 3DN4 130 1.0 1 + A Dif: 210 NS:0 1SN3 140 10 1
»4 IMP: -5 EW:-1 2SS2 110 1.0 2 » 982 IMP: 5 EW:5 2SN2 110 00 2
» Q987 a KT 2SN2 110 1.0 2 ||a T9 » A754 1NE-2 100 00 1
v KT3 v J852 3NS-2 4100 -50 2 ||v QT6 I v 852 2SN-1 100 -5.0 1
¢T3 * A72 3NS-3 150 6.0 1 ||e KT75 ¢ 843
& 9653 » KQ82 » KQT7 & A43
®IVAN 4 A2 o ¢VABN 4,J3
N ~3~21 v AQ9% N ~~331 v K43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ &AJT7 E ~~~~~ & J65
W1~~~~ W ~~~~~
# 19 » KQJ4 4DN-1 50 Mean: 4HXE-3 800 120 1 ||# 20 s AT2 3NW3 600 Mean: 3NW-2 200 9.0 1
v J732 5DXS-2 300 100  3DXN3 470 9.0 1 v Q42 3NW-2 -200 -200 3NE-2 200 9.0 1
+ KQ2 Dif: -250 NS:-9 4HE-1 100 00 2 + KJ952 Dif: 800 NS:9 3NW-1 100 7.0 1
& 53 IMP: -6 EW:4 3DS3 110 0.0 1 & 82 IMP: 13 EW:9 2DW-1 100 70 1
o AT9832 a7 4DS-1 50 40 2 ||as 983 » KQ 2HE2 110 3.0 1
v A95 v KQT64 4DN-1 50 40 1 K9 + v 87653 2HE4 470 1.0 1
¢ 54 * A9 4DXN-1 100 -50 1 ||e A8643 *Q 5CW5 600 9.0 1
& 74 » QT862 5DXS-2 300 90 1 ||a KQJ a AT754 5CE5 600 9.0 1
o ¢VABN 465 oo VAN 4 J7654 3NW3 -600 -9.0 2
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 5DE5 400 Mean: 6DE-1 50 9.0 1 # 22 4 532 1NE2 120 Mean: 3NE-2 200 60 2
v 653 3NW5460 -370 5DE5 400 1.0 4 v QT652 1NE190 -20  1NE-1 100 30 1
3 Dif: -60 NS:-3 3NW3 400 1.0 1 ¢ 63 Dif: 30 NS:-2 1NE1 90 20 4
» QJT873 IMP: -2 EW:1  3NW4 430 20 3 & A85 IMP: 1 EW:3 1NE2 120 -3.0 2
s AT » J984 3NW5 460  -3.0 1 || KQT9 & A76 1NE4 180 40 1
v AQ4 2 v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2~1~~ ¢ KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW3 600 Mean: 3NW3 600 00 7 ||#24 s T972 5HXS5 -650 Mean: 5HXS5 650 6.0 1
v A763 3NW3 600 -610 3NW4 630 -1.0 2 v K983 5HN5 -450 420  5HN5 450 1.0 1
¢ AT2 Dif: 0 NS:0 3NE5 660 -20 1 . Dif: -200 NS:1 4HS5 450 1.0 2
& 42 IMP: 0 EW:0 & AQJT5 IMP: -5 EW:-6 4HN5 450 1.0 1
s QT9 » K6 ~ AJB4 » KQ5 4HS4 420 0.0 3
v QT + v K985 v 54 v QT2 4HN4 420 00 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3SW-3 150 7.0 1
& AKT8 S » Q65 » 832 a4
%o ¢ VAN o A532 o oVAN 4,63
N ~~~~~ v J42 N 4~4~1 v AJ76
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W34~~3 W ~3~1~




